Q1.

Q2.

Q3.

Q4.

Q5.

SW 02250WXV

5 & J1S SMTTIT SIHTSY HST T &2

What is the next prime number after 5?

A) 6 B) 7
C) 9 D) 11
V6 x \27 fFaP RTaR 22

V6 x V27 is equal to

A) 92 B) 343
Q) 272 D) 93

S & AT BT TN F1d Hifore, 1T UrHwe 200 7 3R 3fdR g4 g

Find the sum of two numbers, whose product is 200 and difference is

minimum.
A) 30 B) 27
@) 35 D) 33

—0'4"0‘2"'25 T H19 JTd DI |

0.49-0.25
0.2

Find the value of ?

A) 1.02 B) 1.04
Q) 1.2 D) 1.4

5 TRT BT 39 2:3:4: 10:11 & UTd | g1 TS I 3fid 3y 18 f B, of I
T T8 98 P 3d Y F1d Piforg|

The age of 5 people are in proportion 2:3:4:10:11. If their average age is 18,
find the average age of the eldest of them.

A) 22 B) 11

@) 44 D) 33

SW_02250WXV
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Q6.

Q7.

Q8.

SW 02250WXV

Tfe TP HBT BT 20%, 120 &, At b BT BT 112% JTd DI |
Find 112% of a number if 20% of the number is 120.

A) 692 B) 662
@) 652 D) 672

3 qISU U 319 W §U & &I HUN: 4 fiFe, 5 fiFe 8iik 6 firre & wrddt &% 9@
2. afe 9t ursul & ve Ay @e e 5iran 8, a9 W g¢ O @) @reft de o
a1 99 T

A) 3.24 e B) 234fHe
Q) 3.42 fie D) 243fiAe

3 pipes can empty a semi filled tank in 4 minutes, 5 minutes and 6 minutes,
respectively. If all the pipes are opened simultaneously, how long does it take
to empty a filled tank?

A) 3.24 minutes B) 2.34 minutes
@) 3.42 minutes D) 2.43 minutes
YOUE & gaat & BT ATH T 32

A) b U B) difed

O  Bide D) I

What is the name of the weak zone of the earth’s crust?

A) Seismic B) Cosmic
@) Formic D) Anaemic

SW_02250WXV
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Q9.

Q10.

Q11.

Q12.

SW 02250WXV

YR frarga WRnfet & 996 S5 ?

A) Sl g I B) Sl femRA

Q) Sl g, 3R. X4 D) Sl U 3isgdd A
The father of Indian missile technology is ?

A) Dr Homi Bhabha B) Dr Chidambaram

@) Dr U.R. Rao D) Dr A.P.J. Abdul Kalam
A9 YRR BT pH AIF 71 82

What is the pH value of the human body?

A) 921098 B) 70to7.8
Q) 6.1t0 6.3 D) 54to056
YRA & THRIUA &1 T3 gl

A) BT SABR B)  3dY 3fIBR
Q) o DR D)  Hifeid AYPR

Forming of Association in India is

A) Legal Right B) lllegal Right
@) Natural Right D) Fundamental Right

T | B WiTISe & SR g arelt SHHRY 82

A) FIR BT TR B) CIRWHISE v
Q) HTAT TR D) I uleg

Which of the given is a disease caused by protozoa?

A) Cancer B) Typhoid
@) Kala-azar D) Chicken Pox

SW_02250WXV
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Q13.

Q14.

Q15.

SW 02250WXV

T § UG 6T UTeH TR Tdl & {9 URT ¥ 3= giar 87

A) el B) Tl

0 e D) &gl

Digestion of food in human beings begins in which part of the alimentary
canal?

A) Liver B) Kidney

@) Mouth D) Large intestine

feu e fyerfoq o @ o9 91 ur ¥ gaeisie faerfee 82

A) faerfi= A By fadeiff=B
Q) faeTiim K D) fderff@ D

Which of the given vitamin is a water-soluble vitamin?

A) Vitamin A B) Vitamin B
@) Vitamin K D) Vitamin D

2011 Bt SRIVFT & AR QU 1T T4l a1 g 2niia wezn ¥ & fora =g ar
&z iy we=r # ufa 1000 Toul W Aigars @1 I e 9 32

A) A 3R <ig B) AU
Q) UM SR FPIER D) sRamn

Which of the given States or U.T(Union Territories) has the least number of
females per 1000 males as per the Census 2011?

A) Daman and Diu B) Meghalaya
@) Andaman Nicobar D) Haryana

SW_02250WXV
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Q16.

Q17.

Q18.

Q19.

SW 02250WXV

TP GW! Id Pt HF B fHT 10 A ST 7T 82

A 3&E B) ARG
Q) g D) STHIDR ol

The tomb of a Sufi Saint is known as

A) Idgah B) Masjid
@) Dargah D) None of the options

e ad & == TiwoT 2.0 B THIH UIVUT ST FRIHH & U | ard fdbar
T UT?

In which year was Mission Poshan 2.0 launched as an integrated nutrition
support programme?

A) 2020 B) 2021
@) 2022 D) 2019

o giTe IUTSg A Badg R Wie B AU & T § wifud faear ¥t

A) R B) U
Q) SRR D) 3B

Fatehpur Sikri was founded as the capital of the Mughal Empire by _ .

A) Babur B) Humayun
@) Jahangir D) Akbar

ST WEad! fAgfefad A A fea M & 9xiue 92

A) ERELIS] By fuwofimm
Q) S -HT D) AT gE

Dayanand Saraswati was the founder of which of the following missions?

A) Brahmo Samaj B) Chinmaya Mission
@) Arya Samaj D) Prarthana Samaj

SW_02250WXV
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Q20.

Q21.

Q22.

SW 02250WXV

YT P UG | B 9@ BT Dl 82
A) Iy faum= gt B Idg
Q) Yt D) HRuRug

Who can dismiss the Governor from office?

A) State Legislative Assembly B) Parliament
@) President D) Council of Ministers

HRA & IMPUFT AP AFGIISR SR & Sreasf 3R Gewdl o1 fFgfaa fraat
R ) o34 72

A) YR & UYTTHAT B)  THYYT e
Q) g HAl D) g4l fdee

The President of India appoints the Chairman and Members of the National
Human Rights Commission on whose recommendations?

A) Prime Minister of India B) Speaker of Lok Sabha
@) Home Minister D) All of the options
&5 XTRIT TS T YRR DI Bl 82

A GuEES B)  Igufd

O U D) @i i fIpey e

Who administers the Union Territory?

A) Prime Minister B) President
@) Governor D) None of the options

SW_02250WXV
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Q23.

Q24.

Q25.

SW 02250WXV

RIS Srfr STy ST i # @ R oo Raié vega var 82

A gufd B)  Hdiw ey
Q) I T D)  THH

The National Commission for Scheduled Tribes presents an annual report to
which of the following?

A) President B) Supreme Court
@) High Court D) Lok Sabha

fFrafafad & @ fead Hdtens <1 anexf g i« &2

A) fsgeran B) &N
@) RISl D) gl fdwea

Which among the following comprises the motto of the CBI?

A) Impartiality B) Industry

@) Integrity D) All of the options
YRT # P W W UArad I o g

A) JAgHR Fpr B)  &dd gHGY YRl
Q) &Had gddeft mfe o D)  URMEMA® Ui

Panchayat Samiti at the block level in India is a/an

A) Advisory Body B) Coordinating Authority only
@) Supervisory Authority only D) Administrative Authority

SW_02250WXV
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Q26.

Q27.

Q28.

SW 02250WXV

YRd § e & fau fAuffya dfet 1 sifreaw e fea 82

A) 545 i B) 5523l
Q) 560 T D)  5509¢

What is the maximum number of seats fixed for Lok Sabha in India?

A) 545 seats B) 552 seats
@) 560 seats D) 550 seats

wgufa @1 die 3t fra-it sraflr & forg @reft SYeT o AT 82

A) 6 HeA B) 3WgH
Q) 9 TgH D) 12TgH

The President’s seat can be left vacant for how much duration?

A) 6 Months B) 3 Months
@) 9 Months D) 12 Months

APTgad ®1 TRIT RITUT HIA a1 YR BT UGAT 59 HI- T UT?

A) GIEREIS B) iU
Q)  HENIY D) fHeiRA

Which was the first state in India to set up an institution of Lokayukta?

A) Tamil Nadu B) Andhra Pradesh
@) Maharashtra D) Mizoram

SW_02250WXV
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Q29.

Q30.

Q31.

SW 02250WXV

PR, WHR & 31 &I I 9gar ¢ Fife g8 g4 U= Tl JURA &1
rgafa At 31

A) NIERIEET B)  XIoIRIE!
O SfFTSae D) R

Government is better than other forms of Government because it allows
us to correct its own mistake.

A) Democratic B) Monarchic
@) Authoritarian D) Autocratic

gfe ATTST T OPJEB for@T SITaT 8, @t DELHI T He T gRI?

If NOIDA is written as OPJEB, then what will be the code for DELHI?

A) EFMAK B) EFAMK
@) EFML D) EFMIK

9T 12, 36, 109, 329, .... § AT H&AT T §HIN?

A) 900 B) 990
Q 890 D) ®is o fawed Tl

The number comes next in the series 12, 36, 109, 329, ...............

A) 900 B) 990
@) 890 D) None of the options

Q32. dAIcH: g = ¢f: 2

A) < B) @IC
Q) gtHe D) &c

Drama: Stage :: Tennis : ?

A) Net B) Court
@) Tournament D) Racket

SW_02250WXV
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Q33. frufafEa & A srerl 1 19 T1 GYE &R YT B RN HdT 8, 99 Hi¥® &
T 3iaRTel YR @I 1T 82
_ab_b _aba__abab

Which of the following set of letters complete the letter series, when
sequentially placed at the gaps?
_ab _b _aba__abab

A) abbab B) abbaa
@) abaab D) aaaba

Q34. Fufafad A A #1991 3@ I, 1A 3R F=aR) B I ) <71 A g2iar 82

Which of the following diagrams correctly represents lions, elephants, and

Animals?
@ (L))
A) B) Q) D)

SW_02250WXV
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Q35. a1 &) Ham A FT 3P B2
PYT | H&TH 30 BDEH &1

DY Il

A) BYT
B) HY
QFdrl
D) I 3R

10 BT T ¢ forglA a1 & &4 sie urd fHu g1

| 3l G ©, QfdhT b 11 SidpeTl Ui el @
|| 3l U , Afch YU | 3ba Uit el @
AR T8 T B

1| S BT SHTTLIHT B

What is Geeta's rank in the class?
Statement l. There are 30 students in the class.
Statement Il. There are 10 students who scored less than Geeta.

A)
B)
O
D)

Statement | alone is sufficient, but statement Il alone is not sufficient
Statement Il alone is sufficient, but statement | alone is not sufficient
Neither | nor Il is sufficient

Both | and Il are needed

SW_02250WXV
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Q36. FYU:
) 9t AT @aETES B
1y Jft TS X B
) $B TS TR &
e
i) O AP AP &
i) PO WATID NP &
iii) PO U TAITID @

A) Had i, i STIRT B &
C) I |, iii SFIERU B &

Statements:

1) All heroes are villains.

I1) All villains are zeros.

I1l) Some heroes are jokers.
Conclusion:

i) Some Jokers are heroes
ii) Some villains are jokers
iii) Some zeros are villains

A) Only i, ii follow
@) Only i, iii follow

SW 02250WXV

B) Tt i, i, iii SITRUT HR §
D) &5 Hi fdpey gt

B) All i, ii, ii follow
D) None of the options

SW_02250WXV
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Q37. I AT IR R (answer figure) W YT &1 FRT TW@ ot Uy Rt (Problem
Figures) gIRT RTfd 31 Tlf 87

Which answer figure will continue the same series as established by the
problem figures?

Problem figures

(1) [ AC] ) [NCh)
Ielecr|re|etr|Le

A B c D E

Answer figures;

H (O] ) [ Re]
c 1

A) 1 B) 2
0 3 D) 4

Q38. & S ofa & @relt areT Wi |

Fill The box
oy . |
o \
A) B) —
l 7 L4
0 v D)
-

SW_02250WXV
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Q39.

Q40.

SW 02250WXV

AN gHTSUl TB, KB, GB, MB, &I 3[a3gl pH A AR 1 |

A) TB > MB > GB > KB B) MB > GB > TB > KB

Q) TB > GB > MB > KB D) SAHIPIE TR

Arrange in descending order of the units of memory TB, KB, GB, MB.

A) TB > MB > GB > KB B) MB > GB > TB > KB
Q) TB > GB > MB > KB D) None of the options

3t erffaaw &t 9 WY YRT yg= &t ¥ & forw T | Hefd 82
Which section of IT Act deals with punishment for identity theft?

A) 66 A B) 66 B
@) 66 C D) 66 D

Q41. BIOS &1 Hd WIH &I §?

Q42.

A M Tge/eScyeRen B IR so%eHe/3M3eye Reen
Q) IRYP g/3M3¢ RieH D)  offd $7qc/3M3cyc KT

What is Full Form of BIOS?

A) Basic Input/ Output System B) Basic Investment/Output System
@) Basic In/Out System D) Basic Input/Output Station

fFrafafEa & ¥ o9 91 SITRRF 81 9 & RAM §RT {5471 a1 82

A) Fad AT By g 3RsT
Q)  Padsc D) Rreawrflkearg

Which of the following operation is mainly performed by RAM?

A) Read only B) Read and write
@) Write only D) Depends on the system

SW_02250WXV
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Q43. TP IUPVI 8, Sl TRPIS DI 318 HT 8 3R I8 PHEX GRT AITRG
F & e fagya uew o ufvafda swar 31
A) @iex B) <& aid
Q) SIEAR] D) dR®IS AR

A device which reads barcodes and converts them into electric pulses to be
processed by a computer is

A) Plotter B) Track Ball
@) Light Pen D) Barcode Reader

Q44. TS ey YRIH g ForaeT SUaiT a9 Usi &) a4 & fore fasar siran 21

A WEC B) B

o  fd® D)  STIWR

A ____is a software program used to view Web pages.

A) Site B) Host

@) Link D) Browser
Q45. TSP BIcIPpidl 7= gl

A TH AT fefrea fife Riew, S gea: Sw-AmE1 &1 Bleisd! iR o
& forg Sifiefetd 8T 6.

B) TS SgiharRiTd Yulell/Saagi-ed Suaul|

Q) TP FaaeI-d GEiidheR ol ediad Bfd ®I Iie a6 IR H TSl HRdl |

D) 18  fdpey a1

A photocopying machine is

A) An high-speed digital printing system designed mainly for high-volume
photocopying and printing.

B) A multifunctional system/electronic device.
@) An electronic duplicator that fuses a reproduced image to plain bond paper.
D) None of the options

SW_02250WXV
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Q46.

Q47.

Q48.

SW 02250WXV
JuA! HAR IUHIN St Alegd SUANTHdaie & g qRid araRad JaR &
fore ST eFPwH BT ERdT FRaT e, PeaEr gl

A) IR B) ORI &d
Q) IRy fRag D)  JUYE! IRCN Hedd TSTER

USB communication device that supports data encryption for secure wireless
communication for notebook users is called a .

A) Router B) Wireless hub
@) Wireless switch D) USB wireless network adapter

fifex 3R Aif~ex I 9169 SUBIUN B AT ST 2|

A) LGkl B) BlSalR
Q) 1| D) eI

Peripheral devices such as printers and monitor are considered to be __.

A) Information B) Hardware

Q) Data D) Software

W9 39 3T B T 99 Hd &, Al HEEX d¢ B & a1 Y SeT Srguor
TR

A U ERS {Easy B) Udbexl TRl f&arsy

O  HREIS D) M

When you save the data in , the data would remain intact even after

turning off the computer.

A) Primary Storage Device B) Secondary Storage Device
@) Motherboard D) RAM

SW_02250WXV
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Q49.

Q50.

Q51.

Q52.

Q53.

SW 02250WXV

Frafafeaa & 9 fra aqg o $aa 3ye feasa 2

A) ASY, Blals, ASSWIHT B) HISY Plars, fliex
Q) ASY, piae, R D) HISY dldls, HiFle?

Which of the following groups consist of only input device?

A) Mouse, Keyboard, Loudspeaker
B) Mouse, Keyboard, Printer

@) Mouse, Keyboard, Scanner

D) Mouse, Keyboard, Monitor

Huger § f&vw wgl vt ol 32
A TS gREIH By g
0  feogrEad D) HieHH

Where is the disk put in a computer?

A) In the hard drive B) Into the CPU
@) In the disk drive D) In the modem

A man who always thinks of himself:

A) Eccentric B) Proud
@) Egoist D) Foolish

A country that is ruled by a king or queen: .

A) monarchy B) democratic

@) autocracy D) All of the options
We purchased the snacks .................. they provided the milk.
A) because B) and

Q) o) D) show

SW_02250WXV
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Q55.

Q56.

Q57.

Q58.

Q59.

SW 02250WXV

.................... you need any assistance, do let me know.
A) If B) Which
@) Yet D) But

Choose the correct meaning of the given Idiom / Phrase.
To put one's hand to plough.

A) to irritate others B) to take a difficult task
@) to take interest in painting D) to get engaged in unnecessary tasks

Choose the correct meaning of the given Idiom / Phrase.

A black sheep.

A) one who takes no share in the profit

B) an ugly person

@) an unlucky person

D) someone who is a disgrace to the rest of the group

Change the voice of the following sentence.
The Chairman has made a new rule.

A) A new rule was made by the chairman.

B) A new rule has been made by the chairman.

@) A new rule had been made by the chairman.

D) A new rule made by the chairman.

The package arrived the expected delivery date.
A) on B) in

@) at D) before

| can't believe my keys at home.

A) | forget B) | forgot

@) | have forgotten D) I've forget

SW_02250WXV
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Q60. Heis than his brother.
A) smarter B) smart
@) most smart D) the smartest

Q61. 'Tg Wt ford gTeT W = ga 81" & fore Il = -

A) e B) oAl
o W D) ol

Q62. 3ifSPT Wsg BT L yUfgar TYg HI--91 82

A) a1, IgR, Hid, {7, g, 9f_

B) S, ATS, U, SfET, |, AT

Q) foreogfora, xa, Sy, o, uem, aet
D) T, 9T, AT, ST, SRS, 8Dt

Q63. ‘FoNI® TeT P15 gRTA &' & i v Wrg P A A Pl AT 82

A) 3fgara B) 3@l
@) fgdra D) 3N

Q64. f3U T a1 HT 98 UTT TG B Forad #iIg I B
Ugd 3 o Y GUT A / $O0N B G A e @1 Y1/ @feh1 ag Al asb & /

e Srar AT
A Feddra | B)  ofdhT a8 dl a8 Bl
Q) Ugd gl fe dl gur D) UMD YA I ToIRd T T

Q65. frmfafaa o 3 o= a1 qa & w@x 718l 32

A) 3 B) 3§
Q) ) D) 3l

SW_02250WXV
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Q66.

Q67.

Q68.

Q69.

Q70.

Q71.

SW 02250WXV

T ¥ P quif & T &) FT Had o2
A 3R B) ™R
Q) CINE] D) SR

ST SR TWddT A BT @ 3R S eiF & SR | He1® gid & 39 &1
FEd o2

A) LAl B) &R

Q) CIEE) D) faurt

=Y vrwr & et fpat forfuar 82

A) 44 B) 48

C) 52 D) 56

Y, T, A, I B! B T ol Pod a2

A) gl el B) SR oM
Q) S o D) SIHIAPIS 8!

fore quTe # qd-ug M1 9YT STR-UE YU §1, I DI A1 U $8d 62

A g IEN B)  dgdlle TN
Q) SIS IS D) Ty IEN
frwfafEa & @ 1 a1 e g 82

A dEe B) X

o  awi D) faR

SW_02250WXV
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Q72.

Q73.

Q74.

SW 02250WXV

f5a ypR & Ad oI feeiiadt & yaTor Bt SMazgHdr gl 22

A TRUHURE B) SiRiPue
Q) T U D)  USiigd URe

What type of mail requires proof of delivery?

A) Express Post B) International post
@) Key post D) Registered post

BICIHITUUR A TP HIYRYT UUR SITH 814 U T g4 A1fee?

A) T UaYD ol U BT 1T

B) BICIHIUIR B TR Ulse 9 §¢ fhdr SiFT 91U

Q)  WIRASIIER A3d O deld UHd feu W fou mu =i &1 ura &9

D) QT HISTS FAHTT & 1Y TH HId AN BT ST IR 3R BIeIhUaR B
CEACRISIRIENRY

What should occur when there is a simple paper jam in the photocopier?

A) A report should be made to the office manager.

B) The photocopier must be switched off at the Power Point.

@) Follow instructions in the photocopier manual or on the control panel
display.

D) A call should be logged with the service Difficulties Department and the

photocopier should be switched off.

SMTUPT I TS Terd HRT 74T AT, fawmfaal &) ugar &1 & forw aifse
WiH & 1Y AT B & [T MY {5 SEAae BT ISTANT He?

A) SHI-UF B) fScfiadt Side
Q) e D) &R AEH

Your stationary order was incorrectly filled. Which document would you use
to compare with the order form to identify the discrepancies?

A) Credit note B) Delivery docket

@) Receipt D) Tax Invoice

SW_02250WXV
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Q75.

Q7e.

SW 02250WXV

TP A4 TR W Gied IRE Y8 $T XA (a1 T[T §1 SATYHT TH & aRBT
JRaIeT gfad B3 & fore 8T o1a1 @ ot Y81 W A4 PR &1 gt | e YKt
& g sy foraq SIS & =ftef Ft sraxgwar 82

A) i A3 B) dIMAS5
Q) BB A3 D) g A4

You have been given a twelve-page document printed on A4 paper. You are
required to produce a double sided booklet that when folded will be A4 size.
How many sheets of paper do you need for each booklet?

A) Three A3 B) Three A5
Q) Six A3 D) Six A4

Frafafaa & Q F19 HF vsrRo yumeh T 98 e & UTeP IR & o
a9 SUYad gl

A) ENCHIECS By fo= smutia
Q) HEhIfther D) I MTuURd

Which of the following storage systems would be most suitable for a client
register of a large organization?

A) Electronic B) Image based
@) Microfilm D) Paper based

SW_02250WXV
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Q77.

Q78.

Q79.

SW 02250WXV

5B T | 3T T JHEIA 872

A) foreir STOIR YoITelt Ueh & Iy & Higd @
B)  Ueh pH I HITiifere fRURY 3icdid Aeayul &
Q) Tohel Uohiopdl % STSIR 1 fdeprd

D)  fac=i guitardt aed

What do you mean by Globalization?

A) Financial market system is centred in a single state

B) Geographical location of a firm is of utmost importance
@) The growth of a single unified world market

D) Foreign capitalist transaction

I TXBR BT A@TUNEIT FIT 72

A) 9 T fawg B) A&l fawy

O  GHad gEH D) STHIA DI ol

What is the Audit of the State Government?

A) Union subject B) State subject
@) In the concurrent list D) None of the options

T & Rrgidl @1 “fIye” ik “Fgadi” & 0 A gRT @S 3 fear
T YT,

A)  gac UsHd B) TUd ST
0 S, . faeriet D) SRR TS

The administration principles as “myths” and “proverbs” was rejected
by

A) Herbert Simon B) L. D. White
@) W. F. Willoughby D) Chester Barnard

SW_02250WXV
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Q80. WU & frd 3gde A HIRd BT HY AP TaT ATaRT R forar Tam 32

Q81.

Qs82.

A) 3G 320 B)  3f®¢ 315
Q) 3J®q 325 D)  37wg 335

In which article of the Constitution the Union Public Service Commission of
India has been established?

A) Article 320 B) Article 315

@) Article 325 D) Article 335
I & forg TR BT g1 forgr §r=T anfeu|

A) gRE R B)  al@cg!

Q) HTs-HaolTarg D) P &l YN

Good governance should not be worked on

A) Transparency B) Accountability
Q) Nepotism D) The rule of law

fArsITeA S5 gRT T $aR foaaT wiTan 82

A) gg¢c B)  33cYC
Q) ZYe 3R 3T3eYe gl D)  FdlgYe 3R & 3M3eye

What is covered by the performance budget?

A) Input B) Output
@) Both Input and Output D) Neither Input nor Output

SW_02250WXV
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Q83.

Qs84.

Q85.

Qs6.

SW 02250WXV

fra af A Fs 3t iR 'S vl & vy gR1 uerAfa # vt 7 vt SmRev veH
foar TaT 82

When was SC/ST Reservation in promotion by selection in Gr. 'C' & ‘D’ posts

provided?
A) 1957 B) 1963
Q) 1972 D) 1976

el Heff A wefl/eadt s 9o ugd w9 faur e

When was the SC/ST Reservation first provided in the Direct Recruitment?

A 13.09.49 B)  13.09.50
Q) 13.09.51 D)  13.09.52
yerata # uq muTd IR B9 | AN &2

Since when the Post-based Roster is applicable in promotion?

A) 10.02.95 B) 09.04.97
Q) 21.08.97 D) 27.08.97

SR SAfel/SrgfRIa SeIta/sra fUsst aif &1 o smreur fHdt ot Rufa o
Frafafea @ sifte =8 g aiRe:-

A) $A I BT 50% B)  &d Ifad @l 50%
Q) Pl Rf&d Ricd &1 50% D) EIH I ®IS ol

Total reservation of SC/ST/OBC should in no case exceed: -

A) 50% of total cadre B) 50 % of total vacancy
@) 50% of total reserved vacancy D) None of the options
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Q87.

Qss.

Q89.

SW 02250WXV
Uil 3R uaAfa Y 2frN & ver & #19 A g @y 819 € Sigi te "ait o ual
PIISAT15 G IS § :

A) 100 3% B) 200 UISc (3T )
Q) 14 Uise (L 3TPR) D) SIHIAPIS 8!

What points of Roster are applicable both in Recruitment and Promotional
categories where the total no. of posts in a cadre is more than 15?

A) 100 point B) 200 point (separately)
@) 14 Point (L Shape) D) None of the options

Sgqfera wiTfa & oY 15%, SrggfRra Srefa & forg 72 % 3R Sl & forg 27%
I A R S uel # ug MU IR YOI 1 & oI a+11Q ¥@1 S 2

A) R Yeif B)  3iic sfear ok ydf
Q) G IR § Yl & SraraT D) Il UBR B ucdl

15% for SC, 7% % for ST and 27% for OBC are to be maintained to the Post
based Roster System in Gr. ‘C’ & ‘D’ posts for

A) Local Recruitment

B) All India Basis recruitment

@) Other than open market recruitment.
D) All kinds of recruitment

T T3+ NIRkeT gfaur 31 Sufigari &t &t o wadt § o 7 & Waifta 6 -

A) Yivadt Iqar B) YR JHEM

Q) 3ie e D) T/ qHE™

Home town posting facility may be considered to the candidates who are
belonging to :-

A) PHP Community B) UR Community

@) OBC Community D) SC/ST Community
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Q90.

SW 02250WXV

S ofa & T SRevT ufa=ra 12% & 9eTH~ 15% SR S_IRId STt
& forQ 5% A 77 % P a1 a1 Ur?

When was the Reservation percentage increased from 12% to 15% for SC and
5% to 7 % for ST ?

A) 13.09.50 B) 13.09.51
@) 13.09.63 D) 25.03.70

Q91. HRHI AU & 356 16 B "HHMAT BT AfYPR" & Mid & siqwfa v@n
4T 8, Forae1 e fewar Amie! & frd) off oS ovf & uar A smefur & uraer &1

sfasare, . Bl
A TS 16(1) B)  31I™c 16(2)
Q) 3G 16(3) D) 3¢ 16(4)

Q92.

Q93.

Article 16 of Indian Constitution placed under the heading of “Right to
Equality”; a part of which indicates the provision of reservation in favour of
any backward class of citizen is indicated at

A) Article 16(1) B) Article 16(2)
Q) Article 16(3) D) Article 16(4)

Hieht wdf wrer 7 srggfaa wnfa / srgfa smenfa & Sefieart & R ofe &
____ _®Igesl

Marks relaxation for SC/ST candidates in Direct Recruitment Quota is :-

A) 10% B)  20%
Q) 30% D)  40%

R-°41 ug H rggfad nfa / SrgfRra sieiifa & SWiear) & fore =g=aw avger
[ -1

Minimum Qualifying marks for SC/ST candidates in non-selection postis __.

A) 30% B) 40%
@) 50% D) 60%
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Q94. TH TG/ U a4 H rJgfua sfdy/rgfad et & R ugi & 4R 3t 50%
e T 87

Q95.

Q96.

A P e®-an Rfad R

B) A Rfdd R

Q) SHANT 3R gaH Ridaar gt
D) STHIDRE TR

50% limitation for filling up of SC/ST vacancies in a selection/recruitment year

A) On total back-log vacancy

B) On current vacancy

@) Both backlog & current vacancies
D) None of the options

Afife gt/ safeaal @) fged 3 & e o, &1 freizor
& forg oft srReror ATy B B

A TEH B) THd
O TodH/ wEdly/eidEE D) STHIDS Tl

In the case of engagement of Casual Labour/Substitutes, the reservation is also
applicable for determining .

A) SC B) ST
@) SC/ST/OBC D) None of the options.
drfte smaRor fFram A 91 gUI

CCS Conduct Rules come into force in

A) 1965 B) 1964
@) 1956 D) None of the options.
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Q97.

Q98.

Q99.

SW 02250WXV

Hfiew smerur fAaHt § TReR &1 o gl
A) T TRPR B) & WHR
0 A SIRB)EH D) TIH DI AR

Government in CCS Conduct Rules means .

A) State Government B) Central Government

@) Both A & B D) None of the options.

HH®Te Afgars & a9 Iafisd w® ufady &t e smarur
ot o ufeurra fear mar 81

A) YRT 3-T B)  YRI3-dl

Q) ¢RT 3-4t D)  YURI3-3

Prohibition of sexual harassment of working women is defined in of

CCS Conduct rules.

A) Sec 3-A B) Sec 3-B
O Sec 3-C D) Sec 3-D

WHR FHANGl & Fepe Gaftal o sl a1 wat 4 fged s dRiey

3RoT fAHl & A fRrvfa fear mar g1
A URI3 B) URI4
Q) YR 5 D) HURT6

Employment of near relatives of Government servants in companies or firms is
defined in ___ of CCS Conduct rules.

A) Sec 3 B) Sec 4
@) Sec5 D) Sec 6
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Q100. TEXaT & T €,

A) B
Q) I&e | 9Ug

Subscription includes,

A) Contributions
@) Collection in cash

D)

*%%

Tt fdweg

Funds
All of the options
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